C11 - 2.2 - Predict/Types of Reactions Notes

Synthesis: A + B = 4B [combine Decomposition: AB - A + B
Reactants—Products Diatomic*

Ca + Cl, CaCl,

H,0 -
2+ 1- 2
Ca+Cl, > Ca** Cl 2H,0 H, 0, Cl; F,

2K10, -1 + 30,

Single Replacement: AB + C - AC + B IMetaIs trade non-metal/Non-metals trade metal

NaCl+ Mg - Mg2t CI'~

NaCl+F, » Na'* F1~| Every
2NaCl + F, - 2NaF + Cl, NaF Time!

2NaCl+ Mg €2Na + MgCl MgcCl,

2Ag(N03) +7Zn - Zn2t N031—
24g(N0O3) +Zn Zn(N0s3),

Brackets around
your Polyatomics

Double replacement : AB + CD — AD + CB | Metals trade non-metals |[~ Not Always

MgO + NaCl -

2MgO0 + 2NaCl

2CaC, + 50, >QCa0 + 4C0O

Combustion : C,Hy, + 0, = CO, + H,0 Hydrocarbon + Oxygen — Carbon Dioxide + Water

2C,Hg + 70, - 4C0, + 6H,0

Neutralization: HA + BOH —» AB + H,0

HCl 4+ NaOH - NaCl + H,0

Acid + Base — Salt + Water HY OH'"
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H,(0H),
H,0




